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Question 1: Choose the correct answer: dapaall LlaY) sl (10x1=10 marks)

1) Multiply : (3m — 5)2 = ey (\) ﬂf
a) 9m? + 30m + 25 b) 9m? + 15m + 25 c)9m? — 15m + 25 d) 9m? — 30m + 25
2) Factor : 4m? —36 =.——> \/"'W,f \/A_O.ﬁ

a)(2m+6 )(2m+6) b) (2m-6 )( 2m+6) c)(2m-6)( 2m-6) d) (6m-2)( 6m+2)

3) Simplify : V6 V3= s 9.7 S YOS

a) 23 b) 2v2 c)3v2

d)3V/3

4) Given a polynomial : x*y — 6x3y? + 4x*y* ;then it's degree is e——s, 37 "4 QJ:S 20

a)5 b) 2

<)
5)) Factor : x° —27y° 5 \_/...-&N

a) (x — 3y)(x? — 3xy + 9y%) b) (x — 3y)(x? + 3xy + 9y?)

3

d)4

\-_:'f¢:3:)c;

) (x - 3y)(x? + 3xy — 9y%)  d) (x — 3y)(x* — 3xy — 9y?)

6) Multiply : (3m + 5)% = —> ("Jt'_)"
a) 9m? + 30m + 25 b) 9m? + 15m + 25 c)9m? —15m + 25 d)9m? — 30m + 25

7) Factor : 4m? —16 = > \ P ™ \"".c\)s

a) (2m-4)(2m+4) b) (2m-6 )( 2m+6) ¢) (2m-6 )(2m-6) d) (2m+4)( 2m+4)

8) Simplify : V10 V2 = /)7 ‘;{,;o
a) 210 b) 2v/5 c)5V2 d) 4V5 Ao

9) Given a polynomial : x%y? — 6x3y® + 4x?y® ; then it's degree iSwm— >~P 6"75 é’\’f =
a)5 b) 2 c)6 d) 4

10) Factor : x3 +27y3 5 Q‘,Sa é SZ >

a) (x + 3y)(x% — 3xy — 9y%) b) (x — 3y)(x? + 3xy — 9y?)

c) (x+ 3y)(x? — 3xy + 3y?) d) (x+ 3y)(x? — 3xy + 9y?)
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Question 2: (3+2=5 marks)
1) subtract 2x2 + 3x — 2 from_4x2 + 3x — 5 — = C-J\\)‘/g CJ-\D g
2 2
)P >
(%c +3><-s) - (:Lx +3IR - 2\
2

(4% +3x _s)+(-17°2‘ 3%+ 2)

2 . ‘
2% -3 . o;w\vf'*\wdi-ls‘

2) Factor : x* — 7xy + 12y?

(%-34)(x -4Y) i>><z_ 2%y +\2(3’<

FEANIN
- u

_33

3) Subtract 4x* +3x—5 from 2x2+3x-2 —> )I’fCJ‘/{C‘/‘A b
('”C 3% - 2) L(YR r3x - s)
(’-X +3X-2) 4 (-Ux"—3x x5)

- 02X 4+ 3 o./qx\\"‘?/"\\""'“()’:\:;'
4) Factor : x* — xy — 12y? — - S dfg
(x-«g)(xa(j) >>‘ "c‘J'\g\ ay



